MATHEMATICS
(Summative Assessment - II)
Time : 3 Hrs. 3 ' Maximum Marks : 80

General Instructions :

1. The question paper consists of four sections : A, B, C and D. Section A
consists of 10 questions of 1 mark each; Section B consists of 8 questions
of 2 marks each; Section C consists of 10 questions of 3 marks each and
Section D consists of 6 questions of 4 marks each. '

2. All questions are compulsory.

3. In questions on construction, the drawing should be neat and exactly as
per the given measurements. Use ruler and compasses only.

4. There is no overall choice. However, ‘internal choices have been given
in some questions.
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Section - A (TE-37)

1-4

1 2
Hg) is equal to :-

H—)ﬁﬁmaﬁ TR 87

24 16
(@) (3)° (b) (3)® (c) [%J (d) {%J
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The value of (5% +127)2 is
(52 +127)7 1 A &
@ -13  (® 68 [ = @ (172)?

(9™ =1, then x s :

g (9)™ =1 @ xFT AA R
(a) 9 () 1 (c) 3 d) 0

¥1000 is deposited in a Bank. After 1 year the difference
between the compound interest and simple interest with same
rate of interest is

(a) 100 (b) X200

(e) %O (d) None of these

21000 ¥ H S FAE T T 96 AR THIE A q°
YR =S § 1 <R SN 4K AN H R T 72

(a) %100 ~ (b)) 2200

(c) %0 (d) T 9 FE & T&
Which one of the following is in standard form of polynomial?
frafafas 4 9 #F @ w59 TE w9 F 22

(a) 9p2+3p3+7p+ll (b) 4a‘+3a*+2a2+4

(c) 4a*+2a?2+3a%+4 (d) 5+6x%2+2x

If l+i+l=3. then the value of 'X is :

X x x
Qﬁl+l+l=3,ﬁxmm%:
X K x
(a) O (b) 1 () 2 : (d) 3
Sum of exterior angles of a pentagon is
st vas & wea i & g @
(a) 360° (b} 540° (c) 180° (d) 450°
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10.

L

12.

13.

14.

In a parallelogram ABCD ZA =75° then ZC is equal to
TR =St ABCD W £A=75°, @ <C &1 WF B

(a) 75° (b) 105° (c) 180° (d) 90°

A || gm having a pair of adjacent sides equal is called -

(a) Rhombus ' (b Trapezium

(c) Rectangle : (d) None of these

qﬁﬁeﬁwa@ﬁaaﬁaﬂmgﬁmmﬁﬁa’iwm
Wﬂ‘ﬁ  (b)  HEE

(c) (d) ¥ ¥ FE oF T

The order of rotation of an.equilateral triangle is :

ford) e IS & PR w FE R
(@ 1 b) 2 € 3 ) 4

Section - B (@&-)

¥ 63x =
Find x, if 216"

afg 6> ZETE q x 1 WE J9 St

1

Evaluate (9F J@ HifoQ) : [ (8= + 27 ) }

In what time will a sum of ¥ 3,750 at 20% per annum

compounded annually amounts to ¥ 6,4807

e v o 23750 &1 fAgeA 209 it SRgfe =TS & L 9

T 6480 © STEM?

Mohan purchased a building at ¥ 2,75,000. If its value
depreciates at the rate of 10% per annum, what will be its

value after 3 years?

AT 3 T HEd €2,75,000 H @A AR 1006 fiE T @ gEH

STeTA Bl & A 3 9 @ o N THE qod T Bm?
OR (&) -
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15.

16.

17.

18.

19.

At what rate percent will a sum of ¥ 64,000 amount to ¥ 68,921
in 3 years, compounded annually?

maﬁmmﬁﬂﬁzmhwﬁm?@m | ST A
e T T 3 9 & A A SEfE R @ it g et Ee

ABCD is a rhombus whose diagonals intersect at O. Show
that AAOB = ACOD . '

ABCD Ewagﬁm%ﬁﬁﬁmfomwﬁa}amﬁ%mﬁ@w
fF AAOB = ACOD |

Find the volume of a right circlulaf cylinder whose
circumference of base is 88 cm and height is 5 cm.

3 T FUI a6 FT ATTT TG Hiwe 5T 3nur w1 9fify g8
ot 9 e 5 o 2

Find the total surface area of a cuboid whose length, breadth
and height are respectively 6, 8 and 11 cm.

- fordlt e w1 wepel gt e 9 it feet o, e

9 SOE FAY: 6 991, 8 99 9 11 I B

Give the order of rotational symmetry of the given figures at
the marked point :-

fd T ot =1 yoita mfafs w9 sifea fag w am St

Section - C (@8-9)
(313 3]
Find m so that 9 o) “lo
2 3 2 -6 2 2m-1
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20.

21.

23.

OR (379a)

-2
: : 1
Simplify and express with positive indices : {\13 x*y x %/—?}

waﬁaﬂteﬁﬂwmﬁwﬁz{mx 17J
- P’

The population of a town was 1,60,000 three years ago. If it
had increased by 3%, 2.5% and 5% in the last three years,
find the present population of the town.

fordl TR = SEE 99 o9 9d 16000 o aft sHEEn fed d
a9 A 3%, 2.5% 3R 5% ®1 WY F@ A TIAA T TR F TGS
A A '

Rajan lent ¥ 8000 to his friend for 3 years at the rate of 5%
per annum compound interest. What amount will Rajan get
after 3 years?

TS A 3194 fit 1 8000, 3 =1 & U 59 Whre wswaty =S

- AR 3 I e TS W g Al aftn @ o i
22.

Using long division method state whether or not second
polynomial is a factor of first polynomial.
14x3-5x*+9x-1 by 2x-1

am fafe 1 ya w1 g fewy R qeu g el ages
TFES ? a1 e :
14x0-5x2+9x-1 3 2x-1

OR (31dT)

Divide (x*-10x+21) by (x7) using factor method.
(X-10x+21) I ToEs fafy &1 W@ Q@ W (7)) T 9m

it

The sum of three consecutive multiples of 8 is 888. Find these
multiples.

8 % W AN YIS T AT 888 ® A OIS { ifww
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24.

25.

26.

27.

28.

29.

2x-1"
=5
Solve the equation 3x 15

i A =
L 3x+5 B

OR (Cﬂﬂaﬂ)
(2x+3)-(5x-7) =—_8
6x+11 3

Prove that in a quadrilateral sum of all angles is equal to
360°.

Wﬁfﬂ?ﬁgﬂjﬁ#mﬁmmwmﬂﬁmén

ABCD is a quadrilaterial in which AB = CD If AD = BC, show
that it is a parallelogram.

ABCD T 9gs @ fee AB =CD 3k AD = BC%lﬁ@m’fﬁ%
T TR Sq 2

Construct a quadrilateral PQRS in which PQ = RS = 3 cm,
QR =SP =4 cmand PR =5 cm.
TF IS PQRS &1 W= X fawd pQ = Rs = 3 @,

QR = SP = 4 U1, 9971 PR = 5 9. 7

Solve (8 &) :

For a square

(a) what is the centre of rotation?
(b) what is the order of rotation?

(c) what is the angle of rotation?

T & fou .

quiT &1 HR N 27
ol 1 %5 @@ 87
oA &7 I F 22

Section - D (@g-T)

The S.I. on a certain sum of money for 3 years at 5% p.a. is
T 540. If the sum earns compound interest for the same time
and rate, find the total sum received at the end of the period.

YR 7 W A T 649 3 a9 B 5% Wfded &1 87 ) T 540
1 S I 2| A S o ) TR s W IH TG qM | W

T W @ 3 9Y gyE e o fre)
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30.

31.

32.

33.

34.

Find the quotient and remainder by dividing 2y3-14y+12 by
y+3 using long division method.

2y3-14y+12 ! y+3 ¥ 9N 7 W 9% & IUHA A HIfSC)

OR (37d)

Divide 2x(7+8x2-3x)+2(4x-1) by (-2+2x)

2X(7+8x2-3X)+2(4x-1) Tl (-2+2x) W o1 IfSrT

A motorboat goes downstream and covers a distance in 4 hours
while it covers the same distance upstream in 5 hours. If the

speed of the stream is 3 km/hrs, find the speed of the motor
boat in still water.

Teh @ ¥R % 3 he TRet O i 4 2 | 7 Lt € qen SH gh
F1 YN & fdshet 5 WS W a7 w21 AR U w1 vl 3 R ufa
W T A A & i fer 99 H 9 i)

Construct a quadrilateral PQRS, in which PQ = 3.5 cm,
QR =6.5cm, /P =60°, ZR=120° & £S=75°,

T 9q9sl PQRS &I @@ &ifwe fS9d %#9: PQ = 3.5 9.,
QR = 6.5 ¥, /P =60°, /R =120° 3R S =75|

The volume of a cylinder is 462 cm® and has base area
154 cm?2. How much cloth will be required to cover it

completely?
ek %l 1T Siet ol STFa 462 HHT 3T SR &1 &5he 154 &
it Bl SEH QU oAU | foha swuer anm?

The perimeter of a trapezium is 104 m, its non-parallel sides
are 18 m and 22 m, and its altitude is 16 m. Find the area of
trapezium.

ol Twer o1 URET 104 H € AU SHRT STHEH o 18 H A
22 T Y & IR GHARR el & o #5116 H 1 THer H

TR A hifed|
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